Riviera Beach CRA Payment Authorization Checklist

Vendor Name:	J MICHAEL HAYGOOD		
Control No.: _		Invoice No.: NC-137	
Invoice Date:	7/1/2019	Payment Amount: \$ 9063.00	

Project Supervisor/Responsible Official: SCOTT EVANS

	Reviewed/Approved by
Project "scope of work and deliverables" reviewed?	SE
Payment support documentation appropriate based on work scope?	SE
☑ Deliverables due with this invoice have been received?	SE
□ If final payment, have all deliverables been received?	N/A
Amount of payment is in agreement with payment schedule or is appropriate and is within the limits of the total agreement amount, on a cumulative amount basis?	SE
Expense reimbursement amounts meet Agency guidelines or amounts approved by the agreement.	SE
☑ The nature of work being performed is within the scope of the CRA plan.	SE
Funds for payment have been budgeted and are available from the appropriate source(s) for payment.	SE

The invoice and supporting documentation have been reviewed and it is approved for payment.

Approving Authority

 $\hfill\square$ Payment approved by the Board of Commissioners by Motion No.

____ or the Consent Agenda, at its meeting on _____

(If applicable)

RIV	IERA BI	EACH COMMUNITY REDEVE		GENCY		
		PAYMENT REQUISITION	FORM	·		
TODAYS DATE:		7/2/2019	-		BCP	
VENDOR NAME:		J MICHAEL HAYGOOD			C & S	
VENDOR #:		12285			CDE	
INVOICE #:		NC-137	_	Х	CRA MEC	
INVOICE DATE:		7/1/2019				
PO #:			-		MV	
					RBEC,LLC	
FUND ACCOUNT NUM	IBER	DESCRIPTION		JOB	AMOUNT	
81150101-531000)	JUNE 2019 SERVICES			\$ 9,063.00	
			INVO	ICE TOTAL	\$9,063.00	
COMMENTS:		APPROVED BY:	•			
		AFC				
CRA POLICY ON PURCHASES LESS	THAN \$2,500	D REQUIRES THAT THE PURCHASE PRICE IS "FAIR A	AND REASONABLE." IF C	COMPETITIVE QUOTE	S ARE REQUIRED,	
PLEASE COMPLETE	SECTION C A	ND SUBMIT QUOTES WITH INVOICE. IF UNDER \$2	2500 PLEASE COMPLETE	SECTION A OR B BEL	ow.	
MARKET TREND, PREVIOUS PURCH	OU DETERMII ASE, CATALO	NED THAT THE PRICE IS FAIR AND RESONABLE; EX/ G PRICE, ADVERTISING PUBLICATIONS, ETC. ID REASONABLE. MY REASONS INCLUDE:		ESSIONAL MARKET EX DNAL MARKET EXPER		
SECTION B - OTHER						
SECTION C - QUOTES				.		
VENDOR		PRICE QUOTED	CO	MMENT / RANKING		
1						
2						
3						
RECEIVED BY FINANCE:				0/-		
ENTERED IN TYLER:		1111 0 0 (] #1	947	/ #	
DATE MAILED:		JUL U 2 2019 4]			

J. Michael Haygood, PA 701 Northpoint Parkway Suite 209 West Palm Beach, Florida 33401 561-684-8311

Statement

Invoice No: NC-137 Date: 7/1/19

Bill to:	Rívíera Beach Community Redevelopment Agency Scott Evans 2001 Broadway Suíte 300		
	Rívíera Beach, FL 33404		
Gener	al Administration		

Hourl	y tees				
<u>Date</u>	Description	<u>Timekeeper</u>	Time	Rate	Amount
6/3/19	Document Review	J. Míchael Haygood	0.5 hrs	\$265.00/HR	\$132.50
	Review of letter re: termina	rtion of employee.			
6/3/19	Revise Document	J. Míchael Haygood	1.5 hrs	\$265.00/HR	\$397.50
	Revised FTC Agreement.				
6/5/19	Document Review	J. Míchael Haygood	0.7 hrs	\$265.00/HR	\$185.50
	Review of Townhome Devel	opment documents.			
6/5/19	Document Review	J. Míchael Haygood	1.7 hrs	\$265.00/HR	\$450.50
	Review and revise resolution	on and memorandum	for Avenue E	project.	
6/5/19	Telephone Conference	J. Míchael Haygood	0.8 hrs	\$265.00/HR	\$212.00
	Telephone conference with	Andre Lewís re: Aveni	ue E project av	nd revised resolu	tion.
6/5/19	Document Review	J. Míchael Haygood	0.5 hrs	\$265.00/HR	\$132.50
	Review of resolution autho Urban Farmers.	rrizing execution of co	intract for con	rstruction contr	act for
6/5/19	Document Review	J. Míchael	2.8 hrs	\$265.00/HR	\$742.00

		Haygood			
	Review and revised resoluti	on for disposition of	² Singer Island	property.	
6/5/19	Document Review	J. Míchael Haygood	1.6 hrs	\$265.00/HR	\$424.00
	Review and revised resoluti	on and memorand	ım re: Amendn	rent to CRA offic	ce lease.
6/5/19	Revise Document	J. Míchael Haygood	1.9 hrs	\$265.00/HR	\$503.50
	Revised Anderson and Carr	contract nd resolut	tion.		
6/11/19	Document Preparation	J. Míchael Haygood	2.7 hrs	\$265.00/HR	\$715.50
	Research and preparation	of response to Kimbe	r's email.		
6/12/19	Meeting	J. Míchael Haygood	2.5 hrs	\$265.00/HR	\$662.50
	Attendance at CRA meeting	ŀ.			
6/18/19	Document Preparation	J. Míchael Haygood	3.8 hrs	\$265.00/HR	\$1,007.00
	Initial preparation of Deve	lopment Agreement	Víllarí Group		
6/19/19	Meeting	J. Míchael Haygood	1.5 hrs	\$265.00/HR	\$397.50
	Meeting with Scott Evans and representat	tives from APD/Tezra	el.		
6/20/19	Document Preparation	J. Míchael Haygood	2.5 hrs	\$265.00/HR	\$662.50
	Preparation of Developmen	t Agreement/Vilarri	Group.		
6/25/19	Document Preparation	J. Míchael Haygood	3.8 hrs	\$265.00/HR	\$1,007.00
	Preparation of Grant Agree	ment and Resolutio	n for Top Shelf	Events.	
6/26/19	Document Preparation	J. Míchael Haygood	5.4 hrs	\$265.00/HR	\$1,431.00
	Finalize preparation of Ini	tial draft of Develop	ment Agreeme	ntNílarrí Grouj	b.
	Hourly Fees Total		34.2 hrs	\$	9,063.00